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Wt 1 fH
LB 2D 3A 4A 5D 6D 7.C 8.C
9.C 10.C 11.C 12.D 13.C 14B 15.C 16.C
17.A  18.C  19.A 20.A 21.D 22.B 23.B 24.C
25.B 26.D 27.B 28.C 29.B 30.A 31.B 32.D
33.D 34.A 35D 36.C 37.C 38.B 39.D 40.D
41.B  42.D 43.A 44D 45.A 46.B 47.A 48.B
49.B 50.A S1.B  52.C 53.C 54A 55.C S56.A
57.B 58.B 59.A 60.A 61.C 62.C 63.C
g
5. "0, AR B > XA -
21 = -3:0=K &%
22. = (=30)x(0) =0
23, -2

+7)(=3)

34, = 14x(+3)+ (18— 14) x(-2) + (20— 18) x (~1) = 42-8-2=32
35. = 6000—6x(—400) = 6000+ 2400 = 8400

45, =D - (D=1 (1D =15 (1) =3

46. =(-x(+1) = -1 [—1°=—(1")=—1]
48. = —16+(+16) =0 [42 = —(4) =16 ]
53, —x>0 21FFERY > " —1x & =1F¥

v <x EREERE AN

§<o SERER - 1 0 = 20

55. x+y>0 FIEMERY > " 2 HEBZAIZ AR

X<y, . x—x<y-x,0<y—-x, y—x>0

56. =(1-2)+(B-4)+...+(99-100) = (-)+(-D+...+(-D
= (-1)x50 =-50

60. —6+x>0, .. x>6,80x &M@k 6 KIYIEH -

62. = -5+(6900—4400)+500%x(-3) = =5+ (-15)=-20

63. = [4x(-60000)+ (12 —4)x(+25000)]+4 = —40000+ 4
= —-10000
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B 2 JEREB

1. A 2.B 3.B 4.D 5.C 6. A

9.A 10.C 11.D 12.B 13.A 14.C
177A  18&B 19.C 20.D 21.A 22.A
25.D 26.C 27.B 28.D 29.A 30.C
33.D 34.C 35B 36.C 37.B 38.C

41.C 42.B 43.A 44D 45 A

)
5. A,B,D:y—-6; C:6—y
6. aBPVFIIKbHE =’ + b7 ;
a e b ZFIHIVF = (a+ by
a’ +b*
(a+b)
13. =25a+5a—-1x5=30a-5
15. =6+3y+3y=6+6y
16. =k>+k+k>=2k =2k> -k
25, =l+-—— =" —=—==-=1=
3 (-6) 2 6 6 3 3
A: 2(=2)° =2(-8)=-16
B: —(-2)*=—(16)=-16
C:
D:

i

g
_%7

26.

4(=2)> = 4(4) =16

8(-2)=-16
28, =3 —(2’=9-(-8)=9+8 =17
36.  2008-1999=9; (n—7)+9=n+2

38. A = X IR EESHEE = (s—w) km/h,

. BREE = (s—w)t km
42, y+3x = y; y+3+x:y><l><
x

45 AFHE | BPPATERVEREE = (A +k)m
MBS T d m A R HHE -

- R = hdﬁ #

> A2 «

8&.D

16.B
24.B
32.B
40.B
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Hoo 3 BOUREN

1.B 2.C 3.A 4.B 5.D 6. A 7.D 8&.D

9.C 100 11.A 12.B 13.D 14.B 15D 16.B
17.¢ 18&B 19.D 20.C 21.C 22.A 23.B 24.A
25.D 26.A 27.C 28.C 29.B 30.C 31.B 32.A
33.C 34.B 35B 36.C 37.C 38.A 39.B 40.D

PER

I AFE=-7, L BIIR16,9,2, -5, —12, -19, ...

2 8 16 32 64

/Att:§, ..§&§U%9,6,4,§,3,E,5,...
a,=4,a,=8, a,= 12, NF==4, .. a,=16, a,=20
a,=4=2",4a,=9=3,a,=16=4", . a,= (n+1)’
Coa= (6+1)=49
a,=4, a,=10, a,=16, N7Z==6, .. a,=22, a,=28
—4+1=-3, -3+3=0,0+5=5,5+7=12,12+9=21
2x1=2,2x3=6, 6x5=30,30x7=210, 210x9= 1890

48+2=24,24+3=8,8+4=2, 2+5:§

wok N

O P =N

241 3 T 3+1 47441 575+1 6 27 6+1 7

11. 3+42=5,5+4=9,9+8=17,17+16=33, 33+32=65

12 —6x(=2)+1=13, 13x(=2)+1=-25, —25x(-2)+1=51,
51x(=2)+1=-101

13. 0°+1=1,1"+1=2,2"+1=5, 5 +1=26, 26°+1=677

16. a,=2n(n-D(n+1) DE—{FEES
135 R ATRERY -

17. a,=2"+1 Dhk—{ESE > . 324 2R ATRERY -

20. a,=3,a,=7=3+4x1,a,=11=3+4x2, a,=15=3+4x3,
La,=3+4x(n-1)=4n-1

21. a,=2=3-1,a,=8=3"-1,0a,=26=3 -1, a,=80=3" -1,
a,=3"-1

28. =MIEECE1,3,6,10,15, 21,28, 36,45, 55, ...

29. FERIREEE 0 1,1,2,3,5,8,13,21,34, ...

32, ANE=x+1, JCEEIE x-3, 2x-2, 3x-1, 4x, S5x+1, 6x+2,
Tx+3,...

7-1_6_, 6-1_5 5-1 4 4-1 .3 1 3-1_2
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37. it a,=n*,a,-a,=2"-1"=3,a,-a,=3-2"=5#a,—a,,
COERNEEARY @A
2° a, 3 27 a
38, B a =n, =g b L &
#Hi a, r a, 2° 8 g

LENEHHBGIREE -

B4 —n—RINikt

1.A 2.C 3.C 4.B 5.A 6.B 7. A 8.C
9.D 10.A 11.B 12.A 13.D 14D 15A 16.B
17.C 18.B 19.A 20.D 21.A 22.B 23.C 24.D
25.D 26.C 27.D 28.B 29.B 30.A 31.B 32.D
33.D 34.A 35D 36.C 37.C 38.D 39.C 40.C
41.A 42.B 43D 44.B 45D 46.A 47.C 48.D
49.C 50.B 51.D 52.B 53.A 54D 55D 56.C
57.B  58.D 59.B 60.A 61.B 62.B 63.B 64.D
65.C
1
27. 9-y=21+7y—-(12y+4), 9-y=21+7y-12y-4,
—y=Ty+12y=21-4-9,4y=8, ".y=2
38. KEf=ux /NE=84-x,
ox=384-x)+4, 4x =256, x =64
_ _ . Bx+x)x12
39. BFE=xcm, FE=3xcm, .". ——>—==60, 4x =10,

x=25, .. FE=32.5)=75cm
40. 2 MEMHYEHE = x, $5 EMAYEE = 50—,
S 2x+5(50-x) =169, —3x=-81,x=27
41. 1.5 kg #ERBH =x, 0.5 kg FAUEH =96 — x,
o L5x+0.5096-x)=78, 1.5x+48-0.5x =78, x =30
42, /NHAE =x, KEHAB =108 —x,
.. 2(108 —x) =T7x,216 =9x , x =24
43,  EEEE $(156 —x), HgiE S8 +x),
S 5(156—x)=18+x,780 - 5x =18+ x, 6x =762 ,x = 127

44. P A =x, LN = (1_%))5:%)6,

rar=40, w24, L ZEAB- 209216
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45. BHYHE = x km/h, A B3EFE = 2x km/h, .. 3(2x +x) =387,
3x=129, x=43, .". AMHE =2(43) =86 km/h

46. /INELERF IERY/KFREYSEEE = x m/s
o (x+3)x5%x60=2400, x+3=8, x=5

47. 18m—24=-24+18m; KTl m BOEEEE 207 =1477
Som A DU E S -

48. a-55-5a=-3a+21-a, -4a-55=-4a+21, -55=21;
R tEAm] a WUEEBE 205 #4007 » . a0 -

53, 2%, g 2t e Lig 23-x)—(2x+1)=4,
4 8 2
6-2x-2x—-1=4, -4x=-1, x=%
x-3 x+2
54, 5x12-Y2x12= x12, 60— 2(x—3)=3(x +2),

60-2x+6=3x+6, -5x=—-60, x =12

56. X x12-x12=10x12,3x-2x=12, x=12
0.4 0.6

57, 1x34 2570

x3=4xx3,3+2x-5=12x, —10x=2, xz—%

61. y;2x12—y2_1x12=6;y><12, 4y +2)-6(y—1)=3(6-y),

4y+8-6y+6=18-3y, y=4
63. ZEERREARY = x, EEEE = 20— x,

. 2Q220-x)—x=25,40-2x—-x=25, -3x=-15, x=5
64. ST SHERIEEL = x, ABS VTR = 55— x,

S 55-x-3=6(x-3),52-x=6x—18, -7x=-70, x=10
65. Y WO = x km/h, X F5HE = 2x km/h

(2x—x)><ﬂ:48, x><2248, x=72,
60 3
X HEREE = 2(72) = 144 km/h
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Bo 5 anik (1

I.D 2D 3A 4D 5B 6C 7.D 8D
9.C 10.B 11.C 12.C 13.B 14.C 15.C 16.A
1724 18.B 19.B  20.A 21.C 22.C 23.A 24.B
25.D 26.D 27.C 28.D 29.C 30.B 31.D 32.C
33.C 34.C 35C 36.C 37.C 38B 39.B 40.D
41.D 42.A 43.A 44.C 45.B 46.C 47.A 48.D
49.C 50.A S1.B 52D 53.B S54A 55B  56.A
57.D 58.D 59.B 60.D 61.C 62.D 63.D 64.D
65.A 66.C 67.C 68.B 69.A 70.D 7L.A 72.A
73.D  74.C
HamR

0, 0,
o _1%x10%x1_ 1x10 _ oo

0.1%x0.1% 0.1x0.1
11. %:7.5, y=7.5><%:27:2700%
17, {iffig © $Px38% , {HUAl : $P(1-38%),

_12Q0
E;}%:ip(l 38%) . 100%

Px38%
18, ElL:y e, BH: b+92%) g, .. y+y+92%=288
_ () 0
19 Fam =20 7500@X6M’x100%:18%
20.  MIAHIERERRER A NS =x, 80x75% +x = (80 + x) x80%,
60+x=64+0.8x, x =20
.. 75-80 1 _ 1
22. E%B&ﬁ:TXIOO%=—6Z%, SO ESEY = 62%
32, REREAIE BN = r%, 24(1+ %) x 25(1-20%) = 24 x 25,

1+r%:%, r%:i:ZS%

33. EF]=$10560+110% + $10560 = $20160

34, FrAYHEE z$x(1+20%) =54km/h,

180 2

" AIETARIIRERE = 4 —g = g /INERE = 40 4388

36.  HEAM B =72+ (1-25%) =96
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38, XOrfSHUEREH=x, Y S SAUHERB H=x + (1+10%) = %x’

" x+Ex=399, 2x=399, x =209
1 T

s = 12212%T 6000 = 28 4 100% = 331 0%
12x7 84 3

40. P:Q><20%,P:%Q, S, 0=5P=Px500%

39.

m

41. M=N(1-75%), M:%N, N=4M,

CESE :L;lM x100% = M =M

HIN EE M % 300% °
2. a=b1+50%), a:%b, bzga,

x100% =300% ,

Cl—b a——da
x100% = —3
a a

Hiba% 33%% .

50. A = 132000+ 110% = $120000
51, fEfli= 168+ (1-4%)—168=175-168 = $7

RS

><100%:33%%

52, Bk = 180x1.2=8216, tE(H :180x(l—é)xl.8=$270,

_ e 270-216 54
BRI == 22X 100% = x100% = 25%

56. AT ¢ 408+ (1-15%)—408 = 480408 = $72

58, EE{E =500(1+40%)(1—25%) = $525

59, EE{E =2100(1+10%)(1 —10%) = $2079,

. 2100-2079 21
R =" T 7 100% = 100% = 1%
BBy == 10— x100% = S0 x100% =1%
60. AZfE = (108+18)+(1-10%) =126+0.9 = $140
6l. IR = ! x100%:1x100%=20%
1+4 5
62. A.LxloO%zzs%; B. 28%:
1+3
2 4
C. x100% =28—%: D. 30% ;
5+2 7

EHEED-
63. LB _ANEIEAVERAE AB = 40x25% +40x15% -2 =14,
S RS AR R A N B = 40-14 =26
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64. hEE %éEA%(—ISOOx&%x(I 40%) = 585
67. BORHZHE =300x 66> 3% =8200,

200 200

B = 100% = = x 100% = 40%
B =300 1% = 500 o
68.  HRHIHLF =400(1—15%)(1+15%) = 391,
391-400 _9

. Eﬁ}ﬁ&*ﬁé"zw x100% = 4OO><100% =-225%

71, CSZATHIEEE =600(1—30%)(1+35%) = $567,
. 600—567 33
" Ay =" """ x100% = ——x100% = 5.5%
J Rl 43R 500 500 0 0

72. FERE A 510x(1-20%) = $408, FE)E B : 440 (1—5%) =$418,
A B/ 418-408=$10.
73, M =215+(1-14%) = $250
74, E{E =3600x (1+25%) = $4500,
48 = 3600 (1+10%) = $3960 ,
4500-3960 540

HIE S ®R 500 x100% = 4500~ x100% =12%

oo 6 mBoetk (1)

1. A 2.D 3.B 4.D 5.C 6.C 7. A 8. A
9.D 10.B 11. A 12.D 13.C 14.B 15.D 16.C
17. A 18.B 19.C 20.B 21.B 22.B 23. A 24.D
25. A 26.B 27. A 28.B 29. A 30.C 31.A 32.D
33.C 34.B 35.B 36.B 37.A 38.D 39.D 40.C
41.C 42. A

5 64—(—27)_2 j 1§

' -32481 49 7 7

_ 12000 _ (_1)2000 1 1 _ _2 [... _ 12000 — _(12000) ]
nEEEE . . (D) +l=1+1=2
)1 a+a+a _37a_i

axaxa a a°

2. 3 x7°=(3x7) =21°

2. —(=d*) =—(a") = -a"

35, A4 A 14+ H = Axd 4 =48
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39. A 4°=(22)° =2"; B. 9° =(3))* =3";
C. 8 =(2°) =2 D. 25 =(5%) =5° 2 5°;
LEEED-

40. x> =10, (x*)’ =10°, .. x*=1000
41, 27x5' =2’ x2 x5 =8x(2x5)* =8x10* =80000
42, 47x27=(4x2) =87; 472" =(2%) x27 =2 x27 =22';

=)
. BFEEA

Hox 7 MBnZHANES

1.B 2.C 3.B 4. A 5.A 6.C 7. A 8D

9.A 10D 11.B 12.B 13.C 14.C 15.B 16.A
17.7B 18D 19.A 20.D 21.C 22.A 23.B 24.C
25.B  26.B 27.B 28.D 29.C 30.A 31.D 32.D
33.A 34.C 35 A 36.D 37.B 38.C 39.B 40.C
41.C 42.A 43.B 44D 45.B

L

Lo IL EsEERey (KR Essi) -
L 28R (KREW B iiR) -
22, (=2+7x*—4x)—(-3x" —6x+5)
=24+7x" —4x+3x> +6x-5=10x" +2x -7
23, JEAF =[(a® +1)+(a* =1)]x2=2a* x2 =4a’cm
29. (2x-3)’=(Q2x-3)2x-3)=4x>—6x—-6x+9=4x"-12x+9

33. M :% X (x+7)(2x+6) = %(2;8 +20x +42)

= (x> +10x +21) cm?

34, WA =6(x —1)(x—1) = 6(x> = 2x + 1) = (6x> —12x + 6) e’
38. X HUFREL = (D)(-D) +(-5)(1) =-6;

BT = — 5(+2) = 10
41. y-GB-»+D=y-CBy+3-»"-y)

=y-3y-3+)y +y=y"-y-3
4. FE=EF=x+3)+(x-1)=2x+2,

. iR :[(x+3)+(2x2+ 2)](2x +2) — (Bx+5)(x+1)

=3x% +3x+5x+5 =(3x” + 8x +5) ST EEAS
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45.

Hiux 8

1.B
9.D
17. A

R
3.
4.

10.

> Al0 «

HHEE =yQ2y-D+(y+D(5-y)
=2y —y+(By-y"+5-) =8> +3y+5)

B 2% B EE R 4 B

2.C 3.C 4. A 5.B 6.C 7.C
100B 11.D 12.A 13.D 14.B 15.C
18.B 19.B 20.B

~70-390— 660 + 490 = —490
4925 ~ 4900 HJLIFY 7 #EER

0327 “é TR 4900+7 = 700 ¥ -

A. 70 38/)N C.75.4 x 6 3@ -
D. 80 & A - S A REREB -
A. ~40x70=2800, B. ~40x 60 = 2400,

C. ~50x70=3500, D. ~40x60 = 2400,

EEEC
11.7+2.8%x6.04~12+3x6=30%£90, .. ZZ&=LZB-
A. 14.1 F125.4 NEEE A ZE 20 -

8&.B
16. A

B. FIFHf AT > 141210 F119.6 ~ 10 > [iAE 20 ©

C. B HEHHEMES T -

D. 20 REEFERy 14.1 ~ 25.4 ~ 19.6 1 22.2 [EEh 8

SOEBEEED-

R PR SRS 7.3+ 42.1 fiE—HH 5
TR PO

4831.5~4800 f1 7.3+42.1~ o

SR TSR
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B 9 %M
1.C 2.D 3.B 4.D 5.B 6.C 7.A 8. A
9.B 10.A 11.D 12.D 13.C 14.C 15.C 16.D
17.C 18.C 19.B 20.B 21.A 22.B 23.A 24.A
25.D 26.C 27.D 28.A 29.D 30.C 31.B 32.A
33.C 34D 35C 36.B 37.C 38D 39.B 40.B
41.B  42.D 43.C 44.C 45.C 46.C 47.B 48.B
49.B  50.A 51.A
HaR
11. 6, = 25, »
FHRE = 360°x% =255°
12. 1. . ZABX = Z/XBY 1 ZXBY = ZCBY ,
.. ZABX = /XBY = /CBY
1. ZABY = /ABX + /XBY = /CBY + /XBY = /CBX
. ZABC = /ABX + /XBY + /CBY =3/XBY
Co 1T R T 2 1ERER -
13. ZDOE =/EOB=15°, ZCOD = /DOB =15°+15°=30°,
ZAOC = ZCOB =30°+30° = 60°,
.. ZAOE = 60°+30°+15° =105°
25, FIFSE - N8 E 9 R -
(B : SHETEE AT DI I EARARAY TEEEZ R 3 Rt
AR UL RS R AR EER T —X
CLOBHEERRIEE =6x3+2=9 )
30. L II.I:l 1. A
SEBEERC-
32, BATHEAYEYSIREY I
BID Clj D: O
1
41. WSHE 1 /N EIRY RS = Exnoo =30°.
AR :30°><2+30°x%:67.5°
45. B AI# R 4 = - . AR =180°x4 =720°
46. [EIEZAI# R 4 = - . AR =180°x4 =720°
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49. THEL®(H : 6,5 HEHE 5,5
BEHE 9,8 SR EE B o
50. [EEH 2 @ =AEATHA -
L IR =180° % 2 = 360°
51. 2x+2y+70°=180°, 2x+2y=110°,
x+y=55°,
S ZD=180°—(x+ y) =180°—55°=125°

Hiox 10 HmRsi

1. A 2.C 3.D 4.B 5.D 6.B 7.C 8.C
9.D 10D 11.B 12.C 13.B 14.A 15.C 16.D
177B 18.A 19.B 20.C 21.B 22.C 23.D 24 A
25.B  26.C 27.A 28.A 29.C 30.D 31.D 32.B
33.A  34.D

L
T 2. A22 Bl
A C.3,3 D.2,4

27. , 28.

oo 11 ZFRHIM

1.C 2.C 3.B 4. A 5.D 6.B 7.D 8.C
9.A 10D 11.A 12.B 13.B 14D 15.A 16.D
17.¢ 18D 19.A 20.B 21.C 22.B 23.B 24.C
25.A 26.C 27.A 28.C 29.D 30.B 31.B 32.A
33.B 34.C 35 A 36.C 37.D 38.B 39.A 40.D
41.C 42.D 43.B 44 A 45C 46.D 47.B 48.C
49.A 50.D 51.A 52.D 53.C 54.B 55.C 56.A
57.B

T

28.
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30.

32.

34.

35.
40.

41.

43.
47.

50.

51.

52.

53.
54.

55.

56.
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DE_DF 3 _ 4
DG DH’ 4+FG 3+13°
4_6 , 24+4a=30,a=15
5 6+a

ML_KL 2_ 6
KL NL' 6 MN+2
x+85°=120°, x =35°; y=x=35°
AABCF1AEDCHh » £C= £C (/N3t1),
ZABC = ZEDC = 100° (BEV41), ZA = ZE (ANFERD),
.. AABC~AEDC (A.A.A.)
AB 7 2 AC 4
BD 105 3 BC 6
.. AABC ~ ABDC (=385 FtAl)
2EZAIPIEIRIESE » HRENEE=1:1-
AACE F{1 AADE 1 » AE = AE (/N 358), ZAEC = ZAED = 90° (&
1), CE = DE (E\41), .". AACE = AADE (S.A.S.)
1. AB=BC=CD=DC (&% A LIfESR)
1. ZEAB= /FBC (%55 A $IJEFY), LABE + L/EAB + 90°

= 180° (A N FHF), LABE + LEAB=90°,

.. ZABE + ZFBC =90°, i.e. ZABC =90°
M. A 11> ZABC= /BCD= /CDA= /DAB=90° » 21>

ABCD ;z2—fHIEHIE -
CG=AE=5cm,FG=8-5=3cm, . EFGH Z&—{#1F 5 -
.. EFGH fTHEifE =3 x 3 =9 cm’
2% /C=x, .". ZCBD=180°—90°—x=90°—x,
/A4 =180°-90° — x=90° — x,
ZABD =90° — ZCBD = 90° — (90° — x) = x
AABD, ABCD F1 AACB (1) = FAEFE: (90° — x), 90° 1 x,
CCETEEMEY (ALAA)
atd _15_3 n4+18=45 2a=27, a=135

9 6 2

AABC FIACDE i » /A4 =180° — 90° — ZACB (A IfHRI),
ZECD = 180° — 90° — ZACB (F-19),
. ZA=ZECD; ZB= /D =90° (E.);
ZACB=ZCED (3" ZorA), .. AABC ~ ACDE (A.A.A.),

35 15

S =2 (CD=3x-2=9, ".BD=4+9=13
CD 15 5

FFIFEML A,

16+4FG =48, FG=8

, 2MN +4=36, MN =16

AABC F1 ABDC tf1 »

izi, Sm+25=135, 5m =110, m =22
9+6 m+5
y 10 10

FIFAEEL A, BT y:2—5><10:4
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57.

Hix 1

1.D

9.B

17. A
25.B
33.A
41.B
49.B

T

10.

11.

14.
15.

16.
17.

19.

20.

26.

> Al4 <4

& 4 = > il a, b cRld - 6 EHHELAE (0, D),
(a,¢),(a,d),(b,c), (b, d)R(cad)-

2 mpiREA (1)

2.C 3.A 4.D 5.B 6. A 7.C 8. A

10.B I11.D 12.B 13.C 14.B 15.B 16.A
188D 19.B 20.B 21.D 22.D 23.B 24.C
26.C 27.D 28.A 29.A 30.C 31.A 32.D
34.B 35.B 36.B 37.D 38.D 39.C 40.D
42.C 43.A 44 A 45D 46.A 47.B 48.C
50.B 51.C 52.C

ﬁfﬁf:(%xﬂx?)x2zl680m2
12x10 12x11

[HITE = S =60+ 66=126cm’

A 2202 5o eny B. 10 x 15 = 150 cm’

c. U*IDx125 455 02 p, 19;4+19X12=152cm2
SEBEERED-

ax4=5x12, . a=60+4=15

FEE =xem, L0916 200 104 x =40, x=30

JAFR =(5+5+3+3.5+2.5+6)x2=50
i =(2+1.5x2)x(2+0.5x2)-2x2=5x3-4=11n’

[HIf& :%X16X16+%><7><7+(%><7><16)><2:l28+24.5+112

=264.5cm’
—fEIE/EE T A5 By 6 EEARAK/IMEEIRY =41 » i =
FIVIEE 6 om » 5 10.4cm .

o THI :(%X6X%)X6:93.6cm2

ﬁ‘\%iﬁﬁﬁ%:(%x12x5)><2+(5+12+13)><9
=60+270=330cm’
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29. H&FE =3x5x

36. &

HEEM.C. 2B - —

¥:3X5X7=1050m3
32. HHYKIEIZREE = (6% 60)+(12x15)+14 =360 +180+14
—2+14=16cm
:xcm’mxl6:123’ _ 12x12x12
2 24x8
3. #BR=xem, 6°=486, ¥ =8l =81=9,

LR =9 =

729 cm’

40. " AABC, AABE F1 AABD FFHEIMIE (4B) FIFHEIRYE
" EMHEEESE

41. AZ:DZ:?:IOcm, DY =6x3=18cm,

AX =18+6-8=16cm,

2. [k

A B 37
5o

=3

44. APST iEifE = PQRS [YiHfE —

43. fEkE =

1A B 3

[T =

20x 24—

8x20

10x18

10x16

2

2

=480-80-90-80=230cm’

O THIRE = 18x13+22x9—13x9

=234+198-117=315cm’
43. CD=26+65=4m,

a8 SO TEIRE =10.5x4+26+2 =42+13=55m"

=90-72=18 cm’

3x1000
1.5

=2000cm’,

=0.01cm=0.1 mm

52, BIK—EHY7KEE = x m, ZEK—BHIKEE = (x+3) m,

(x+x+3)x50
2

Hix 13 MEEmfr
1. A 2.B 3.C
9.B 10.,A 11.A
17.C 18.B 19.B
25.B  26.C 27.B
33.D 34.D 35.B
41.B  42.C 43.A
49.A 50.C 51.D
57.B  58.A 59.D

BERENFE

4.C
12.D
20.D
28.B
36.C
44. A
52.D
60.C

5.D

13.B
21.B
29.A
37.C
45.D
53.A

x10=2000, 2x+3=8, x=2.5

6. A
14.C
22.C
30.D
38.B
46.B
54.B

=2000-+(25x16)+500 =2000-+400+500

7.C

15.B
23.D
31.C
39.D
47.D
55.A

45 —27 =2 x APQT [EiRE —

8. A
16.C
24.C
32.A
40. A
48.C
56.D

> AlS5 «



HEEM.C. M - f—

PER
5.
14,

16.
17.

18.
19.

20.
23.
24.

25.

30.
31.

34.
36.

37.

42.

> Al6 4

yRE=0, . 1-b=0,b=1
AB=(m+6)—(m—-1)=m+6-m+1=7 Ef],
BC=(m-1)—(m-5)=m—-1-m+5=4 Bff
1—(-k)=6, 1+k=6, .. k=5

A XY 2Ky » . b=d
B.YZ2HmEHM > . c=e
C.XY=a-c=0-c=—cHf}
D.YZ=d-f=d-0=d Bf;

LEEREC

@f’é :M =60 $ﬁ$1ﬁ

2
ﬁ$§:5:6+5X6=15+15=30$ﬁ$1ﬁ
Bt =54 - 222 2X2 34

2 2 2

TR = (15 - 0) x[9 — (~4)] = 15x 13 = 195 7 i

(x—4)x[10—-(-2)]
2

_ (a+ll)><4:
LR @

COoxMfE of P=1-4=-3, ). P=P,

30, a+11=15, a=4,

=20-5-2-6="7FJFHN

=48, 6(x—4)=48, x—-4=8, .. x=12

X'(a,b) ¥ y WiSES — (—a, b) it5 x {iSH — X (-a,~b)

A(5,2); 1 4 B L HYERE =5-(-3) =8,
CCARIESE (5-8x2,2)=(-11,2)

H'=(G,-8)=(a+1,-b), .. a+1=3,a=2; —~b=-8, ..

P(272) » 0272 > R(-22) o, o Q36
2R
AL

D(5,0) > E(-5,0) = F(0,5),
. =60
=12 a5 g

" 275°-95°=180°, .. AOB Z—16E# .,
. AB=7+2=9 Ef}
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43.

44,

49.

50.
52.

53.
55.

58.

Hiyo

1.B
9.A
17.B
25.B
33.B

HEEM.C. 2B - —
" A £POQ =290° —20° =270°,

. ZPOQ =360° -270°=90°, ﬁﬁ’—sxg

20 VU7 ELfL

" ZMON = 220° — 160° = 60° 1 OM = ONf 6,

.. ZOMN = ZONM = (180° — 60°) + 2 =60°,

.. AOMN 2558 =AW, ... MN=6 B}

A HEEE=6-0=6 Bf]

B. i = 10 - 6 = 4 Bf

C.HEE=4-(-1)=55{

D. i = -1 - (-4) =3 B{

SOBEEEA

(49-T)—(2-q)=15,4q-T7+2+qg=15,5¢=20, g=4

B ALE BI/EH : (2m=T)—(m+4)=8,

2m—-7-m—-4=8, m=19.

% ATE B4 (m+4)-(2m-7)=8,

m+4-2m+7=8, m=3

PS=0QR=3-(-7)=108f7, .".R=(-1-10,-12) =(-11,-12)

EEIIT:11X14_8><11_7>2<2_(2—|r124)><4
=154—-44-7-32=T1FF AL

AXYZ 2—HEA=AE - XY=h 841, YZ=k B,

lﬁ%:?k$ﬁ$ﬁ

14 REREME S

2.D 3.C 4. A 5.C 6.B 7.C 8.C
100A 11.B 122A 13.C 14D 15.A 16.D
18.A 19.C 20.C 21.A 22.D 23.A 24.D
26.C 27.D 28.A 29.B 30.B 31.D 32.A
34.C 35.D

6(4)—k(=5)—14=0, 24+5k—14=0, k=2
5(%)=4—2a, 10=12-6a, 6a=2, a=

8(m)—3m(-2)+7=0, 14m=—~7, m=—

= W=
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11, yPE=5, . 5=—4x-3,x=—4:—2

12. KA (L0), ..200)=5(-1)+k,k=5

21, N(y+4)=7(-4+4)=0; 1(y—-4)=7(-4-4) =-56;
—-6(x+1)=—-6(1+1)=-12; —-6(x—-1)=-6(1-1)=0;
STy +4)=-6(x—1)

24. 6(p-1)-5(p+1)+8=0,6p—-6-5p—-5+8=0, p=3

25. B=(Qa,a), .". a=-2(2a)-15,5a=-15,a=-3,
.. B=(-6,-3)

26. (a,b)=(a9-a), .. 2(a)-39-a)+7=0,2a-27+3a+7=0,
5¢=20,a=4,..P=(4)5)

27. P=(p0), .. p+0-8=0, p=8; 0=(q,0), .. ¢g+0+3=0,
g=-3; .. PO=8-(=3)=11%(

28. P=(p,0), .. p=20)=6, p=6; 0=(0,9),

. 0-2(9)=6,q=-3; ... ﬁ%:6;3=9$ﬁ$1ﬁ

29. A=(a0), . a+0=5,a=5; B=(0,b), 0+b=5, b=5;
C=(c0), ... c=0=-5,c=-5;

. [5=(=5)]x5 .

- w2 sy

30. 3(m)—(-2)+7=0,3m+9=0, m=-3; -2=k(-3)-5, 3=-3k,
Sok=-1

31. l+k=4,k=3;1-23)+a=0, -5+a=0, .. a=5

32. mz%a@yﬁé@—ﬁ:o,ozatx_ax:gzg;ozqgw,

0=9+d, .. d=-9
33, EIREHERIEH > HEH=0-
FHEEIFT > & x =0 y=4000 - .". JEHF = $4000
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Hix 15 fMmsatE (1)

1. A 2.C 3.C 4.B 5.C 6.B 7. A 8. A
9.C 10.C 11.D 122D 13.D 14.B 15D 16.B
17.¢ 18&B 19.A 20.A 21.C 22.A 23.C 24.C
25.b 26.C 27.B 28.C 29.D 30.B 31.A 32.D
33.D 34.C 35B 36.B 37.C 38.D 39.A 40.B

1. y=360°x—2 — 360
100
12. HE = 1950 + 30% = $6500
4. FEAEAREESES » B E VRS
B[1 1999 ££4(1 2000 4 »
200—100 100
19. o =221 100% = 220 £ 100% = 50%
B =00 7200 R

:wxloo% :@xloo% =40%
250 250

250-100 150
21. B =2 x100% = —— x 100% = 150%
B =0, *~ 100 ’ ’
24, BB/ NERIECSRE 1 31,35,40 f142, . 4K
25. xW[REE S5, 6,7 F18, . AfEFTRE(E
26. 50 pEDA LA =5+3+2=10,
AR R = %XIOO% _ 66%%
27. REMRETERE AE =30 x (1 - 80%) =6 » FHEFTA » BAKAI5>
BOEH 31 2847 5 > . G HEUE 4847 -
28. yH[REEO, 1A12-

20.  EEAD
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